G2(3) (mod 7)
blocks | defect matrix blocks | defect matrix
G: 1 1 7%X6 15 0 7281 = X19, ¥20
2 0 141 = X2, P2 16 0 7282 = X20, ¥21
3 0 911 = X6 %6 17 0 8191 = X22, P22
4 0 912 = x7, 7
5 0 915 = xs, ¥ 3.G: 18 1 7X6
6 0 1681 = x10, 10 19 = 18
7 0 1821 = x11, P11 20 0 1891 = x26, Y25
8 0 1825 = x12, p12 21 = 20+
9 0 2731 = X13, P13 22 0 1893 = X27, ¥26
10 0 2732 = X14, P14 23 = 22«
11 0 4481 = x15, 15 24 0 3781 = X31, 30
12 0 4485 = X16, P16 25 = 24x
13 0 546, = X17, P17 26 0 3783 = X32, P31
14 0 5462 = X18, P18 27 = 26%
Block 1: | o1 @3 w4 ©5 @9 @19
Li=xi| 1 . o= h
64 =xs| . 1 . vs = Oh
6o=xa| . . 1 . pro= 04
781 = X5 . 1 . . 5 = 78
104, = yo | 1 1. po = 103
7291 = X21 . . . . 1 1 1o = 6261
8321 = X23 . 1 1 1 1
Blocks 18, 19: Y23 Y24 Yo7 P28 ¥29 ¥32
271 = X214 1 . v = 20
273 = X25 . 1 . ('024 = 273
35l =yes| 1 1 1 . par = 297
3513 = x29 1 . P = 351
3515 = X30 1 . P20 = 3513
7292 = X33 . . 1 P32 = 7291
17281 = 34 1 1 1 1




